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Fap(X)= achromatlc receptor response Fap(X)= achromatlc receptor response modified Fap(X)= achromatlc receptor response Fap(X)= achromatlc receptor response modified
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b(Xp)= achromatlc receptor responsek modified (%)= achromatlc receptor response& modified ab(Xr)= achromatlc receptor response modified (%)= achromatlc receptor response& modified
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o(Xp)= achromatlc receptor response modified (%)= achromanc receptor responseX modified (%)= achron/\atlc receptor response modified (%)= achrorr/lanc receptor responseX modified
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o(Xp)= achromatlc receptor responsek modified an(Xr)= achromatlc receptor responseX modified 20X )= achromatlc receptor response modified (X, )=achromatic receptor responsek modified

Xr/a_
LFu(X)= bﬁm =bBtanh[x./a]  a=1,00, b=1,00 e=2,714 3__Fab( )= me bBtanh[x /a]  a=1,00, b=1,00 e=2,716}] [ Fap(Xr)= bﬁm =bBtanh[x./a]  a=1,00, b=1,00 e=2,71. LX) = be’/a—ex' FBtanh[x./a]  a=1,00, b=1,00 e=2,71
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TUB-test chart eej4; TUBIND model of response functieggx,), and derivatior’ 5(x;)
Receptor response Y+, and amplitude modulations Y+ & R+'/G—’" (left), Y+ & R+/G— (right)




